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**NC meons non-colculotor**

Unit l: Lineor ond Non-Lineor Svstems

/'\
a ( 3) - z)
.6her--. J+c lltrz-s

cross

(q,E)
Y = 5x-7

/ -3x-2Y:-72
\-3x- A(E^-7) = -t,
-3x-lDY tl4='12

-4x* 9v :9
3G-3y:-o

1=+' x=1

v:1x-3
Y=-x+1

x-3 = 7d rl
f<

7{-- -r+3

*Qroph 6r
,uL sub;*h.dta't

-L7
3)
Ll

3
?Lq 1l sa*. in:
.{Yay = - b
f,_-*--J-4v = -15a-a* 

-7:3' V=5
5) NC Groph the following system of inequblities. Then, circle the points below thot ore
solutions to the system.

y<-3x-4

Y>1x+3

r&)

n^g ,t bckin'
l=-G)+l
Y= -L

- rl y+-1fi = 1

Circle the solutions to



6) NC Morio is hosting o porty. She ploces on order of Pizo Hut for 5 pizos ond 4 breodsticks

for o totot of $St. Holfwoy through the porty, she reolizes thot she will need one more pizo

ond 2 more order of breodsiicks. This time she wos given o totol of $.l5. How much does o

pizo cosi? How mr,.rch does o breodstic! 93t! 5 *+>d; Pizzo,= fl +X= P,Lzq
Y = b"',nd

5x+41=5t y'i,.ii:'l_x{lii
f s* + L{Y

I l* + 2y

?luo it back in
1/12y =t5
7 +zY=t5 bread' I q

Y=4x-B k=? xz - toY Lt: = {2

xl-ltx r 20 = o

-,i:";'t"){-;:)=E ro*=, 
Unit 2: Rodicols ond Rotionol Exponenis ,q ; * ryl = 3

r)totve eoch folloiving rodicol equotion. Determine whether eoch solutlon ls exrroneous. 
-2_

x^-zx +tL= 4-'B rrt7,t; I E4 : - tv'^ ;'; +/3" 'ri "- #= |ur* -l : ewaa,,rtc

x- fJL'- JJ 7 tt? ,nt'L4,o-,, -*z 6r ::

y =xz -Bx*!2 ltt:',':1 | 
y:x'- ex* 18 *,--7x + r B = X' 1,;:)

l, Jglvt, \rLt\-ll lL/llvYYIrrv rvvrvvr vYvv - 
-i,/lo.,t3x-5;t5-2- l^.,, ,.@:ir ,o+-wf#!:" lH*=x1orx l-aysy I ^-'=.'::::* so,i?"+2 I ,x-5=tbO{TATY a=ry: l\-,1.?,r Z"rc;*tu'v I ' 3x. t -,* 2. !,J I O=X- +X -'tu _ (on#rmthey | 

- 
3X= lS 

,3x3'= +i | 6, (*+ro)(x 11)- % rs - | *4=e *f;3.wo*r;764rel f{; s l

=t5 3x= zl
x=n

7) Solve eoch svsiem below.-, --

9x: 511 x-'7) "ttu? =? /

e following equotions in rodicol form. simplify if possible.

3) NC Rewrite the following equotions in rotionol exponent form'

1[t4 = I
2)NCR

1

o.6E
3

b. ms
L

c. (2x)a

rt 3/-
IDo (fl6)' t..W5l c

o. VX"

-11E,

4) NC Simplify the following rodicol expressions'

o.-3fi8 #- b. ^ml:)t-3-6 -& 'l alT 5E
5o

(An as-@"oe{T-1.

28

?^^,
..160



o(ffi.,
=70 o%,'?

5) Use exponent rules to simplify the following expressions. Your onswer should hove only
posiiive exponents ond no repeoted boses.

' t4>-

"Nc(ffi
f-2 _-to

{.*b F''f

Ir
2x+

L,. 5

3 y'*-z

= i x't+-??)

dr@
a',(vz)

L_)'x 'y2
25'Zqxv,X V^lt
A -rJ +kDa ner*S :ff1d cxpoeaxP(

,,/L

-z+
3

=Lu+*?
= ir^r&*H

xo

= t -z- Gt)

,-g -Ltr Unit 3: Quodrotics

or the moximum volue of the
function without chonging ihe form of the equotion

o) Stondord form b) foctored form

2) NC Which of ihe following equoiions shows the minimum or the moximum of h(x)?

h(x) = 2 (x+ 3) (x +l ) h(x) =2x2+8x+6

Does h(x) hove o moximum or o minimum?

t / T+ is a- " smile"\ / i" ii f^' ;"" ;i"i m*wt .Y+
3) The John Deere Compony hos found thot the revenue from soles of heovy-duiy troctors is Y
o function of the unii price P thot it chorges. The revenue R isR: -lo' * 1900p. Whot unit / \,r/t

--price P shou|cl be chorged. to-moximize=revenr-r.e?--wh #. v.-fu,r.\= + x, -J?.oQ; E?C;;-l Now, PL1g .'! ,n
26-rr) 1," ?'"i\i I -,,, I ttio)z+t1b (rq oo):\* l, s6s., ooo rc,n]iD

4) NC The groph below .ofi b" represented by which of the following equotions:

o) y=(x-2)(x+1)

@=(x- t)(x+2) (y-i,lcre.pk o{e t oad -z)
c) y=(x+l )(x+2)

d) y=(x- l)(x-2)

* r"t".

c) vertex form

h(x) = 2 (x+2lz-2



r\
5) NC Selecy'nrf/t tf'.r" functions thot con represent ihe follorrinO groph

\_/

t-'(5j-'Foil 
L-Ai_tl_4t-g_1i-]tL--.i.rrffi> "v1 ,/o \./ .2-1 -[t:t- oo,,\irY G-q- _i1)2" FTA \-2'9,t- r l)Niiotuu 6EEilowin-qequotion using one of the following methods: quodroiic formulo,

o) 2*+ 4x +3

@ 2g+3)(x + r)

aA 2g+ 2)2 -z

d) 2(x-3)(x- l)

O2x2+'x.r?:t:;t:)
f) 2(x-rr'-r, 

,

6)NcSimplifyeochexpression.WriieyoUronswerino+biformot..,*

;-;-,;eii'-ditHll.llllrvrvvl.._,.,_6i1z::,.,,'W,)g
- 3 + 6.t +:s + 3i -? L - L (,,- ty1r, *?!i2fi.-1

-(,( tt, - {gt- 3L)
Co^hine-.+T Cr*:i;"rrk€ -o(-zo- 4gr)Dis*nb,te

.,ffi,:|: d(6-21 r/mr4ii lffi

foctoring, toking squore roots, completing the squore (don't forget to try GCF first)'

d. xz+4x+6=0 ":31P!Y*-
u * G- 4-'q t.[W-r's&)

y-b z le
*irrpt.x ""'^W*p4= 3

' '*-€ tL
lf =q I ar

=d=-3flo=-5+zd rt
=!

--+ Ilsi na comPLeX tVUftDs>
- \-t- 

-l 
----1

,-#ff=l-zti,fr)
b.xz-llx+.|9= e. 4x2 - 2x= S q^12*-s#

. xL-1lx+24=o
l=!-,, ) rt..e ;!he -q@."c"zq/ - -fx=l'E;51

c. n2+Bn=3n
3n -3n

nL+5n=O

=
f.

z cq\al@
3*r?y'= 12

4-h
Zt=.0-
33
x'= z

= A! dlzt
.8q



8) How mony times does eoch of the following

-:t = 3xz *;,. - *
4ty=-xo -4x*3 y:2x2-1x+1

2

9) Ahmod is jumping up ond off of o diving boord thot is 3 feet obove the woter. His height
obove the surfoce of the woter, h, in feet is o function of time, t, in seconds os modeled by
the quodrotic funciion h(t) = -Ztz + t + 3. 

+

Unii 4: Function Fomily

1) NC Given the funciion nome; give the equotion, groph, domoin, ond ronge.

funciions intersect the x-oxis ? #&J:tr
g ra-Put and

+..s
obserrle.

o) How mony seconds does it toke for Ahmod io hit the surfoce of the woter? F;") l-lre, )c-iti,

:i' i,:';;^ffi r # a + ;x4- ;i[:j;=.":n'^ s =' )
g;i @r =r., -T-./\
-b;-whot 

is A[fin64?r).o*i-um height? 
t 

=]=E a [F\r L___J

-rt // \ b: neooJ-rve.
.t-c J

ta(l.s\

lineor, f (x)=_21

ffiffirn-rm-.ITrrrr

Quodrotic, f(x)=32' Absolute Volue,
f(x)- lx I

Cubic, f(x)=-ff

tore Root. ffxl= ne Kr)r)T TlYt=;, a)nAnttall llYl= -r- laaari*hmi^ fl-l- laa



2) For the function, of(x-b)+c, comptete the toble for the effecis of eoch porometer. Then,

give on exomple of eoch.

lo l>1

Errect: uf*^i!:I.^
Exomple: l(D= 3lxl

b>0

Effect: ryh'l-
Exompte: 

fi*S= (x_z)-

c>0

Effect: Lq

Exomple: {U): loqX +1
0< lo l<1

Effect: Vcrhcal eoMrcs,or
r lwrtt I

Exomple:

l(A = tlz tL

b<0

Effect: lel+
Exomple:

Qt")= (**s)'

c<0

Effect: do6n
Exomple:

{t9=.lT ' L
o<0

Effect: Refi.d;o^ 6r
" {liP"

Exompre: 
f,r*) _' _ /

bonain, (tr(f, nqt*)* tLSe x-a(,S *afurS
?ange: ( t" a , ln igh )

f(x) = .fiT5+ z

bornajn- frSr*)
a: L2,*-

f(x)- lx+31'rnovcC teft3)
or,,arn C*r*)

A"rtge fo, * )

x) = (x -Z)'- +

riq\l>
dY.,"'{

Do^.in (<*)
K%"€q,*)

3) NC Groph the following functions. Then, find their domoin ond ronge.

f(x) - -,li+ q

[',1
Domain:

Lo,*)
Karlc't*



4. NC For eoch groph below, determine if it is o function. Then, find the domoin ond ronge. lf
it is o function, write the equotion.

.lnclion?

Domoin:

/-* ,<1

No , doesn'h
Pc.si fltc-
'verg6d lina

tes-|.
ffi
.. i. .. .i. . . i. ..{.. ..! ...i.r

:::l::
' ':' ' ": "' :' ' ':" ' :' .,:' '

Function? y., \}
Domoin:

Ronge:

fo, *)
Equotion p&)= iT+S

x
\ I . - , :!o _r, _roqJ _lo _.s

Ronge: .:...i..:'
(-n, --) <) .;fi/ ' :

Function? r

No. I{ Jocsn,f
Doss t4te- Ve*ira--l

oomoirl: tin e le'st,

Function? 

^!'+#r#*oomoin:' line- tzsf'

Lr ,o-)
Ronge:

Gn, --)
Equotion

l:l[ ::t i;
;.{ ;-.-Y1t-'
,, I ,, (1): i

n-f,gti
;-;[ iq\i
j-:[:i :i i )

v

++r
0

Funciion? Y.a(;
Domoin:

G*-, -:J
Ronge:

Gn, L)
Equotion f fryL1

Function? 
"l.S U

Domoin:(_ar ZJ
- Czr*)
Konge:

C.t., *)4G*r-tl
Equotion (:kip)

I

SLOT: RATIONAL EXPRESSIONS

1)Simpl,fV,ffi
fac*or: @ +8)

2)Simpl,fVrffi X+5
X+L

G *v>CP--{)
- 
Where is p not defined? lE< denom,ndor

Ca-nnof be- Z<ro. P + -a;iiJu."-Gry+-r P+4
\fross mwlfipty.

i- ,4-,(n*aj = to(n-1)
Di>lyi bu-fe.

Faclor , g=4-O+s)

Where is x not defined? -lh. denorw,rwJzr
Ccrnno* .bc Zero, X+ q X+ _L

4)Solvelffi;
q(u-s) z 1(v+L)
1v -'t5 = 4v +z*

' 
n *-'r'^==' ! iilt 6;';e


